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General Test

Group Number : 24

Group Id : 485584905
Group Maximum Duration : 60

Group Minimum Duration : 60

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 250

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

General Test

Section Id : 4855841049

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 60

Number of Questions to be attempted : 50

Section Marks : 250

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 4855842967

Question Shuffling Allowed : Yes

Is Section Default? : null
gse]?(t)il(l)sne q‘?n?ebeﬁglfﬁl%lﬁ%)glﬁA41§/fi?1§;‘1§1§r‘}10 ngtllgﬁscttli%llll E&ee::%CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

In AABRC, BD ax the mtemal bisector of £B meeting AC 0t DL IECD = 7 om and AC =« 10.5 cn. then AB:BC

E=

dm

Options :
485584153601. 1
485584153602. 2

485584153603. 3
485584153604. 4

Question Number : 1171 Question Id : 48558438401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Options :

485584153601. 1
485584153602. 2
485584153603. 3
485584153604. 4

Question Number : 1172 Question Id : 48558438402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

|C0mprehensi0n |MCQ

Wihach ane of the following s wet an Avithmete progresson?
1.1.5. 57, —
2L AR 14—
R I I I 1
412,16,20. 4 —
Options :
485584153605. 1

485584153606. 2
485584153607. 3

485584153608. 4

Question Number : 1172 Question Id : 48558438402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fmfafas 1 29 W s I T= e
1 1.3, 5.7, =
2248 1B aum
S, 30, P
4, 12, 16, 20, 24 —

Options :
485584153605. 1
485584153606. 2



485584153607. 3
485584153608. 4

Question Number : 1173 Question Id : 48558438403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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Sumplify J54 /204432 NIT]
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Options :

485584153609. 1
485584153610. 2
485584153611. 3

485584153612. 4
gseg(t)ll(l)& %?,?J’e&*ﬂfﬁlﬁ%?‘ﬁﬂ?é‘%A%fﬁﬁ?ﬁ‘}P Ilgll!ﬁsc?i%rlll “Rlee::%CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :
485584153609. 1

485584153610. 2
485584153611. 3
485584153612. 4

Question Number : 1174 Question Id : 48558438404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584153613. 1
485584153614. 2
485584153615. 3
485584153616. 4

Question Number : 1174 Question Id : 48558438404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ
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Options :

485584153613. 1
485584153614. 2
485584153615. 3

485584153616. 4
Rgses(t)lﬁ)sne 'illltllleb?&:.zlll’zﬁin uﬁ%’é‘%&‘l@fﬁ%ﬁ?&"ﬁ ll!ﬁsctt]i(())llll E&ee::%lCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Lomprehensmn MLQ
Four men can don work 1 10 days md 3 women cando the sazse work m [ 2 days. Hoor mamy woomen nmwess

wark with 3 men to do the sane work i 8 days?

i =

]
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Options :

485584153617. 1
485584153618. 2
485584153619. 3

485584153620. 4



Question Number : 1175 Question Id : 48558438405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :
485584153617. 1

485584153618. 2
485584153619. 3
485584153620. 4

Question Number : 1176 Question Id : 48558438406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Aqin eovers tirst 28 kms of us joumey i 45 mamstes amd the remaining 32 kms w35 munstes, What 15 hus

avernze speed 1 msT

|
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X
Options :

485584153621. 1
485584153622. 2
485584153623. 3
485584153624. 4

Question Number : 1176 Question Id : 48558438406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Key |Value

Comprehension MCQ
| |
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Options :
485584153621. 1

485584153622. 2
485584153623. 3
485584153624. 4

Question Number : 1177 Question Id : 48558438407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A metallie sphere of rads 3 an 15 melied fo torm a cone with radmes smne as that of sphiers. What s the
h=ight of the cang (im el 7

L. 10.7

= 12

4.3

Options :

485584153625. 1
485584153626. 2
485584153627. 3
485584153628. 4

Question Number : 1177 Question Id : 48558438407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ
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L 14.7
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4. 32

Options :
485584153625. 1



485584153626. 2
485584153627. 3

485584153628. 4
Rgsestt)lltl)sne ynlgnebe&.glfﬁlgyﬁ%{)glﬂtﬁﬁf;g&# ngtllgﬁscttli%llll E&ee::%CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
A 15 theee vears younger than B, who 15 twice as old as C, [T the sum of their ngss be 51 years, then what will

be the age of B (in vesrs) two vears henesT

1.2

Options :
485584153629. 1
485584153630. 2

485584153631. 3
485584153632. 4

Question Number : 1178 Question Id : 48558438408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :
485584153629. 1
485584153630. 2

485584153631. 3
485584153632. 4

Ré‘ﬁ%‘ﬁ’;‘e }lnl?ebef\lAlizl(zl%?’isl%)glﬁA%fi?ggui‘x‘]ﬂ?ngtlrlﬁsctt]i%% “R]ee::%lCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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IE25in20 = 3, where 05 28 = NP then find the value of cos 38
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Options :

485584153633. 1
485584153634. 2
485584153635. 3
485584153636. 4

Question Number : 1179 Question Id : 48558438409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

|C0mprehensi0n |MCQ
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Options :

485584153633. 1
485584153634. 2
485584153635. 3
485584153636. 4

Question Number : 1180 Question Id : 48558438410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key . |Value

|L0mprehen510n |MLQ

Mean of 28, 30, 26, (K+6) and (K1 ) =25, Foul the mean of 32, 39, mmd 2k

k2
it
[=]
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Options :
485584153637. 1



485584153638. 2
485584153639. 3
485584153640. 4

Question Number : 1180 Question Id : 48558438410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key . |Value

Ibomprehensmn |MLQ

16 30,26, (K+6) W (K1) T HIE 25 51 32, 30 -HIT 2k T 9NG Fid Hifog

1.5

4. b

Options :
485584153637. 1

485584153638. 2
485584153639. 3
485584153640. 4

Question Number : 1181 Question Id : 48558438411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A card 15 drawn ot andom from o well shaffled pack of 52 cards. What i the probability of gettime o ‘two’ of
hearts or a 'theee’ of diamonds
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Options :

485584153641.
485584153642.
485584153643.
485584153644.

AW N~

Question Number : 1181 Question Id : 48558438411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ
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Options :

485584153641.
485584153642.
485584153643.
485584153644.
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Question Number : 1182 Question Id : 48558438412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Fund the average of first 10 prme mmunbers
1. 10
2 11
3
4124

Options :

485584153645. 1
485584153646. 2
485584153647. 3
485584153648. 4

Question Number : 1182 Question Id : 48558438412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :



485584153645, 1

485584153646. 2
485584153647. 3
485584153648. 4

Question Number : 1183 Question Id : 48558438413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ

In what ratio the line semment jomang the pourts (-2, 3] and (3. -7) s divided by o-axis

123

Options :
485584153649. 1

485584153650. 2
485584153651. 3
485584153652. 4

Question Number : 1183 Question Id : 48558438413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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Options :

485584153649. 1
485584153650. 2
485584153651. 3

485584153652. 4

uestion %?nl?eb:e&izlllsﬁin uyistlonzlﬁ':A4 58438414 Question E&ee::l}gCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse ime inimum Instruction
Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value

Comprehension MCQ




The difference between length md brendth of p rectangle 15 15 m, If the perimeier of rectanale 15 162 m. then

the area of the rectangls (™) =

L. 31568

L
=

|
]

4. 1584

Options :

485584153653. 1
485584153654. 2
485584153655. 3
485584153656. 4

Question Number : 1184 Question Id : 48558438414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

TRt el o i N HIETS S SR 15m € | T 9 M @ URHTT 162m & O S 1 AR
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4. 1584

Options :

485584153653. 1
485584153654. 2
485584153655. 3
485584153656. 4

Question Number : 1185 Question Id : 48558438415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

A shopkeeper marked his goods 0% lugher than ther cost pres and allews 20% disconnt om every stem Foxd
hie nst protit peresnfngs

L. 20%
2, 15%
. 12%

4. 1%

Options :
485584153657. 1
485584153658. 2



485584153659. 3
485584153660. 4

Question Number : 1185 Question Id : 48558438415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

U5 SN A 3O T 6 &0 Hrd 8 0% Hfes W aiRE T iR vl a5 T 200 B g Al
S W AT W i S

L 20%
2154
3, 12%s
4. 14%

Options :

485584153657. 1
485584153658. 2
485584153659. 3
485584153660. 4

Question Number : 1186 Question Id : 48558438416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Aoand B started a bousiness by investing 210,000 and 218,00 respectively: Atter 4 months C jomed the
business with 5 <apital of 212,000, After two mors months B Left the business his capital. Ar the end of the
vear & pot a share of 37500 m the profit, What is the tofal profit eamed?

L. 12750

-
X

4. T223{K)

Options :
485584153661. 1
485584153662. 2

485584153663. 3
485584153664. 4

Question Number : 1186 Question Id : 48558438416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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£, T13000
3. 72250
4. T22300

Options :

485584153661. 1

485584153662. 2
485584153663. 3
485584153664. 4

Question Number : 1187 Question Id : 48558438417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A shopkeeper bought e viem for TG00 and merked on 11 50% higher than its cost price. He allowed 2050
disgount on it Find his profis pereentags

L 20%
220

%, A%

4. Ja%

Options :
485584153665. 1

485584153666. 2
485584153667. 3
485584153668. 4

Question Number : 1187 Question Id : 48558438417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

U M 1 2 600§ U T G 41 sov, AT 8 S99 g i fean a9 cow # g
E'HﬁiHTEF!ﬁ'&f{I?IEIEIEfﬁ'qu

L.20%
£ 25%
3. 30%
4. 3o

Options :
485584153665. 1



485584153666. 2
485584153667. 3
485584153668. 4

Question Number : 1188 Question Id : 48558438418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A borrowed Bis 10000 each frons b friends B and C bor 2 years. He was supposed to pay compound inbarest ot
10%% per anmm to B and simple niterest 11% per anmuun ta ©, Who charzed niore interest at the end of 2 years
and how maechs more?

1. B. B 20 mare
2. B, Es &) more
3. Be 100 anore

4, C, B 1M more

Options :

485584153669. 1
485584153670. 2
485584153671.3

485584153672. 4
Question Number : 1188 Question Id : 48558438418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Key . |Value

[Comprehension MTQ

A F M R A 0T B, W 8 T 10,000, 2 TS T SR R S 10% AT TeelE S
S B F AN (1% TN TR =0 5% § ¢ B YT S o s e 2 e F AT T afie

L. B. 320 i
2. B. 280 HfEE
3, C7100 HF
4,.C, 7120 HRE

Options :

485584153669. 1
485584153670. 2
485584153671. 3
485584153672. 4

Question Number : 1189 Question Id : 48558438419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key . |Value

|Lomprenen51on |MLQ




A's monthly salary was 240000 and he wsed to save 2100 per month, His salary merensed by 15%
expendimre nersased by 15%. By what peresnt lus savings meressed?

L. 4%,
2. 30%
F 55%
4. &%

Options :
485584153673. 1

485584153674. 2
485584153675. 3
485584153676. 4

Question Number : 1189 Question Id : 48558438419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

& I AN 39 240,000 § AN T8 210,000 W3 FIS T § | THE 30 25% 991 0% 150 5= 7911
fopa= wiemm S gaa =l

L. 0%
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Options :
485584153673. 1
485584153674. 2

485584153675. 3
485584153676. 4

Question Number : 1190 Question Id : 48558438420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

g b= , then find azbic

Lad | B3

:I—atd.n':-:f = i
4 4

WA | e

1.20:8:18

[ F ]

20016018
41511
4. 406:15:16

Options :
485584153677. 1

485584153678. 2



485584153679. 3
485584153680. 4

Question Number : 1190 Question Id : 48558438420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

|Lomprenen510n |MLQ

4 3
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Options :

485584153677. 1
485584153678. 2
485584153679. 3

485584153680. 4

uestion %umbe&{&l?ﬁigyﬁstlonzlﬁ.k4§/f5843842 n?tll!ﬁsctt]i%llll Eﬁlee::%CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse Time : 1me nimum
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Fend the followine statements and choose the comect conclnswon that can be lozieally inferved from these
stateinents

S ratednens:

A Al bualls ave bells
B Soie bulls are cows,
C, Scane bells are chairs,

[. All bells are cow.
2. Sine cows are chairs
2, Beme bells are tulls

4. All bells are bulls.

Options :
485584153681. 1
485584153682. 2

485584153683. 3
485584153684. 4

é‘s"ﬁﬁ'ﬁ’s‘% 1%‘1’1':1“«*!)6&‘&119}1118?‘}51%)3IﬂA“lQ’fi?g;‘rﬁ?r‘}nzlln?t'rlﬁsctt'i%% Hﬁlee::%[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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485584153682. 2
485584153683. 3

485584153684. 4
gseg(t)lr(l)sne ylhngjeﬁ.gl?ﬁlgyﬁ%)g%tﬁsn%%ﬁ%z ngllgﬁscttli%rlll 'jHRlee::l}s[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

S persons ALBCDLE and F are sitthing mn row faging MNerthe A oand F are ssthng at bwo extrene emils of the
rorv, B 12 to the immediate ight of A and D is 229 feft of F. What is the position of E with respect to A

A E s to the nght of A
B. Eis o the left of T,

Whacl statensent o anfficiut to anavwer the question aF not

L. 1£ A alone sutfcend oaly

I

B aloge sufficient culy

L]

If A and B needed together
4.1{A and B both are not sutficient

Options :
485584153685. 1

485584153686. 2
485584153687. 3
485584153688. 4

Question Number : 1192 Question Id : 48558438422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




ABCDE NN F @ S 3R W 31 R gu e (A 8 g1 AN F i S R W a8 8 1B AT
BT HIW HF D, F & &5 i # 560 81 A & Ay e B Bl 7w g
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B.EC T g ARl
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ey T T et © & ot 3 o S0 AT
L Of A JfeFe 10w 8
2, ufd B e b &
3. 0 & 3R B T § SmaETE E
4. Tl A 3 B 21 # e TR

Options :
485584153685. 1

485584153686. 2
485584153687. 3
485584153688. 4

Question Number : 1193 Question Id : 48558438423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

I£ each of the letters m the English alphabest 15 assigved. m even mumerical valoe by grving A= 2, B =4 and 5o
oy then what would be the total vahes of the lettars of word 'CUET when sumilady coded?

3. 0

406

Options :

485584153689. 1
485584153690. 2
485584153691. 3
485584153692. 4

Question Number : 1193 Question Id : 48558438423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




T AT FuieTe F T a0l &1 70 UEw § O fEm o o A=, Bt T o CUET e & a0
1 e H1H E I 0T O S A i

L. T8
2,74
395
4. Sa

Options :
485584153689. 1

485584153690. 2
485584153691. 3
485584153692. 4

Question Number : 1194 Question Id : 48558438424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fiod out which of the following fizres will complete the figure mntnx:

problem fgue

A\
]

NN(s)

>LO

b

B] B [ [

Options :
485584153693. 1
485584153694. 2

485584153695. 3
485584153696. 4



Question Number : 1194 Question Id : 48558438424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tfaian FEl © 99 9 s Ty g Ay &) g a2

1O

>

Options :

485584153693. 1
485584153694. 2
485584153695. 3
485584153696. 4

Question Number : 1195 Question Id : 48558438425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ina ceriam cods, FOOTBALL 15 whnitien as UFPGMBMC. How 15 ALTGATOR written i that code™
1. HMIC SURC

o

2. HMLTA SUPA
i HMIBSLUTE

4. HMIDSLTPD

Options :
485584153697. 1



485584153698. 2
485584153699. 3
485584153700. 4

Question Number : 1195 Question Id : 48558438425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

faredt s H FOOTBALL T UPPGMBMC T 51 37 For 77| ALIGATOR T 52t worr & wis I g
e ferfete

L. HMIIC 31UTPC
2. HMIA STTPA
i+, HTRSLPH
4. HMTDEUPD

Options :
485584153697. 1

485584153698. 2
485584153699. 3
485584153700. 4

Question Number : 1196 Question Id : 48558438426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Cheose the tizure whech is diftersnt from rest

.
i i
O
;| -
-
=
! 2
i
il L]
1.1
|m .
Options :

485584153701. 1

485584153702. 2
485584153703. 3



485584153704. 4

Question Number : 1196 Question Id : 48558438426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

39 fom & 90F S w1 s 3 g e

-
-
i
L
[]
L] L]
4.
. -

Options :
485584153701. 1
485584153702. 2

485584153703. 3
485584153704. 4

Question Number : 1197 Question Id : 48558438427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A the sonsin=lmw of B, 15 the boothersinslaw of © who 15 the brotler of . How 12 C related to B

1. Cousim

k2

Sirwh
3, Brother=in=lmm
4. Fatleer

Options :
485584153705. 1
485584153706. 2

485584153707. 3
485584153708. 4



gsegtt)lr(l)s% q,}llglebe&./lll‘)gm uﬁ%’é”ﬁA“]@Péﬁl?rﬁ%? nglllﬁsctt]i%rlll “Rlee::%[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A, B TS & 3R C T A & W D FHE €1 C T B & WY F U g
L, == T
X
A H=E
4. T

Options :

485584153705. 1
485584153706. 2
485584153707. 3
485584153708. 4

Question Number : 1198 Question Id : 48558438428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

Comprehension MCQ
l |
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Options :

485584153709. 1
485584153710. 2
485584153711. 3

485584153712. 4

Question Number : 1198 Question Id : 48558438428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584153709. 1
485584153710. 2
485584153711. 3
485584153712. 4

Question Number : 1199 Question Id : 48558438429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key Value

|Comprehension MCQ




Find the fgure "X which is embedded m the following alternative

TS

Options :
485584153713. 1

485584153714. 2
485584153715.3
485584153716. 4

Question Number : 1199 Question Id : 48558438429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ




T el # 5 T2 =) S Fme o SR e

Sy

I

Sl

X
Vd
N
/V

Options :
485584153713. 1

485584153714. 2
485584153715.3
485584153716. 4

Question Number : 1200 Question Id : 48558438430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Choose the comect water image of the problem fizure from the options

Problem figure

%

O

LT

Options :

485584153717. 1
485584153718.2
485584153719. 3

485584153720. 4
Rgses(t)ll(l)sne }‘,{‘l‘ebe&‘llzf’l?l&“ﬁ%{’e“ﬁﬂAﬂ@ﬁ%’fﬁfffnﬁ‘r‘ﬁﬁ ion ﬁglee : IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584153717. 1
485584153718. 2
485584153719. 3
485584153720. 4

Question Number : 1201 Question Id : 48558438431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

|C0mprehension |MCQ




& piece of prper 15 folded nnd 0 ¢t s made as shewn below. From the given responses indiente how it wall
appear when the paper will be opewed:

Problen fguras:

e [

B

]

Options :

485584153721. 1
485584153722. 2
485584153723. 3
485584153724. 4

Question Number : 1201 Question Id : 48558438431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




T FTH F e 51 HiE 7] 05 &2 70 T & 9 R v #) Ry = 4 dm
T4 (8 & FT S w0 Ot 4 &9 EEE 2m)

=]

L

Options :

485584153721. 1
485584153722.2
485584153723. 3

485584153724. 4
Question Number : 1202 Question Id : 48558438432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Key |Value

|(,omprenen510n |MLQ




Geiven below are two statemsents: one i labelled as Assertbon A and the other is Labelled as Reason B
Assertlon A: Hot axr ballooi rses v o sky. becanse Dot acr is l2es dense than cold -z

Reasom B YVolunse of a gas decreases on beating

Tou the Light of the above stadements, choose the most appropriate answer from the opticns goven beloaw

L. Both A and B are covrect sl B the corvect explanstion of A
2. Both A ad B are covrser bt B e WOT the eodveet explanation of &
J. A carveet but B gs ot correst

4. A s not correct but B 15 comect

Options :

485584153725. 1
485584153726. 2
485584153727.3
485584153728. 4

ﬂé‘se&t)'r?s“e Prwge&'gzpﬁlr%ﬁ%oenI[QA%%%‘IE’USI#&&%%%%% :H{Hlee :: IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e o1 T o e B T SR (ASSERTION A) 1 F0 A Tafem & A 550 99F WR (REASON R) T 9 H,
ferrem o - T 7 W R S0 oW 1, T A g @ g A T oAl 6 50 A g
R R : 7 T O TG O AT Hew i
G F e 1, i fawa ST 9 e SUE I @ 9 s
L A MER T TR E AN R A T O ST R
A SR 2 E E of B A o o wrm e
3 A wH e R oE §
4.4 TEd B AR EHE

Options :
485584153725 1

Fa

485584153726. 2
485584153727. 3
485584153728. 4

Question Number : 1203 Question Id : 48558438433 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ




Who scored the lughest among PO, B 5 aad T7
Starement [ ) sooced inoee than S, but nod mooch as B
Statement 1T 2 T scored wiore thian B bt st mees ten P
1. Statement 1 alone 15 suificient. but statemnent 11 15 not sutficient.
2. Staresient 11 aledwe 32 sufficsent. but statemen | s wot sufficieat.
3. Bath statements togsther are sufficast. et nsither staiement = alons snifficient
4. Each statement alone 15 sufficient

Options :
485584153729. 1

485584153730. 2
485584153731.3
485584153732. 4

Question Number : 1203 Question Id : 48558438433 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
i ol e R A

P QR 5 H1 T ¥ e TEilieE i urd B

WTUN [ - . S H TS HF W T g AT R & e E

YT T, kB vl S v fim # ot e R i

T TS & HETE A, = S T EEe 7 9 58 U9 9Te & 90 Sag
|, SR 1 N T T SR S 1 i A
2. ey 1 Tt R &, AR e 1 e Tl
3. TR e iy i, S s i oft e i T R

4. T U S g w

Options :

485584153729. 1
485584153730. 2
485584153731.3
485584153732. 4

Question Number : 1204 Question Id : 48558438434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Kev |Value

IComprehension |MCQ




A fhght from Delha to Mumbal leaves every 5 hours, At the evening coumser, 1t clanify that fhalit toak off 25
murmtes aza, If the tme now iz 10:40 mm. what (s the time for the next fight”?

1. 3:15 pm
2 305 am
3 210 pm
4. L:10 am
Options :
485584153733. 1

485584153734.2
485584153735.3

485584153736. 4
é‘s"ﬁ%‘r‘.’s‘% q“llrlr?el)e&'gzpﬁll%?ﬁ%)enIIQA%%%‘ng’usélSI“ns lrlﬁ% 11(())1111 ”,Hgl% :: IX[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

et 4 A & fom ma—ﬁwm:ﬁmauwmm.ww%ﬁmnm
O YA | Ol and T 10:40 am B, A TIH T HAY T Em

L o3:0%m

ks

dil¥am
3 210 pm

4. 210 am

Options :

485584153733. 1
485584153734.2
485584153735.3

485584153736. 4
Rélseg(t)ll(l)sne ?rll?g)?&i&ngi&uﬁ%{)en: A%%!ﬁﬁ?éﬁilsng}lﬁg 11(())1111 "HH]% :: IK[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Ceiven below are two statements: one §s labelled as Assertbon A and the other is labelled as Reason B
206,020, 42, 110, 156, 27—
Assertion A: In the above number senes the mmmber 15 subbmcted from the square of the sanie prome mumaber.

Reason B: The differemce between thie toa consecutive ninbers of the ssiies aie pnultple of even nmmbers
amly,

In the higld of the above sinfements, choose the most appropriate answer from the opiicns ziven below

L. Both A and B ave correct and B = the comrect explmation of A

2. Both A aiwl Boare corrser buwt Bl ie WOT the eorreet explanation of A
3. Avs comest but B3z false

4. A s false bt B 1s true

Options :

485584153737. 1
485584153738.2
485584153739. 3

485584153740. 4
Question Number : 1205 Question Id : 48558438435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e o T g T By S (ASSERTION A3 % w0 ¥ Tafl 3 550 99% WRT (REASON R) T T H
2.6, 20, 42,110, 156, 27—

AP A . IR T SEEH, T S A T O A T W

0T B« A o6t 1 TTETE HaEma o wi A e O i w1 o |

T TR T wEE |, iR R g ST 7 3w JuE IO T 9 S

L AR R & T R R A ) oY o

2, AR R A TR E ol R A ot oo T B
3.A¥E BUAE R TR E

4. A T § A R a8

Options :
485584153737. 1
485584153738.2

485584153739.3
485584153740. 4

Question Number : 1206 Question Id : 48558438436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Study the following miormation carefully and answer the question given below:
Followving are the coinditions for selecting Monager in an oegunisatica)
The eavdlidars muesd

1. e ok less than 15 yr and not more than 30 yras on 1.1.2020
IL. e grachaate at least 65% marks
101, b ready to pay T7OL00D as secunfy deposit
IV, heve seaured a1 least 50% marks in the selection sxam

W, have secured af least 55% marks in personsl ureniew

Im the case of o candidate whe has sbsfied all the above condibons except

1., at (I} abwse, bovt Bz secured an lsaar TG marks i the post graduation. the ¢ass is vefémad to Dareson-
peranue].

2. 8t (11} shove, st 19 ready to sign a bond for one vear the case is bo be refarrsd fo HOD-personme],

Anrita was borm on 150 fuly. 1992, She has secved 66% marks in graduaticn nod T1% marks in posts
gradontion. She 13 ready to pay 270,000 a5 secunty de]:-c!:n:. She has nlso secured 5024 marks in the selection
Exnmunnieom,

L. 1f the candidate 15 ta be selected.

2. if the candidate is not be aelected,

3, 1f the data provaded s not adequate 1o take a decimon,
4. if the ecase 12 1o be referved o the Davector-perscamal.

Options :
485584153741. 1
485584153742.2

485584153743.3
485584153744. 4

Question Number : 1206 Question Id : 48558438436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




TR 700 T 1 T i A S A 7 el e i
T WEE | vEuE & =90 F g Fefriae wd e
TR

1. 1.1.2020 F1 26 24 F &5 7o g0 fen i 30 T & iE Tl a1 aneu)
I1 3551 A e, 0F TY Waw 51 Jie |
I, FEEN WHI & %9 270,000 F1 YT B4 &) o0y g1

v T AT B TS sovs S Ua e

V. TEERTTTR TR © O d T 454, 3 UTE B e

T FudEn 3 e o @ e gl o € e

. T an B o o WeaeE T 0 S 7o 36 W B, Te = PR s
T HT F

2. I () o 3 v o A i At TR eesr A W OOR £ T o o A 2 anfile & o
AT T

ST T LS WO, 1902 T EHT W11 FE WIOW H 6% HF Tu WS H 77 afw afila fa
TE #70,000 T4 TH & 59 5 YA & [0 oW & 357 709 T F 5o S i S )

1. Tf FTIEaR 6 59E ae e

2. 1if Fuftaar wt =8 =9 wen A

3. 0fs AR Al i 3 fon argafa )

4, ofe T =7 e e @ FREE S 3

Options :
485584153741. 1
485584153742. 2

485584153743. 3
485584153744. 4

Question Number : 1207 Question Id : 48558438437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Potato: Camot: Endish
I. &mnach
1. Seeame
3. Tomnto
4. Groundnut
Options :

485584153745. 1
485584153746. 2

485584153747. 3
485584153748. 4

Rgse&t)lr(l)sne ?Irr{lg)elN.AZPg“(ayﬁtl}loen%A%%§$3‘§é3l7n8¥lelggg% ",H{Rlee : IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

1. 96

2 faE

3. TR
4. T

Options :
485584153745. 1

485584153746. 2
485584153747. 3
485584153748. 4

Question Number : 1208 Question Id : 48558438438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Problem Baure

A\

W

E
A

Salyia




Options :
485584153749. 1
485584153750. 2

485584153751. 3
485584153752. 4

Question Number : 1208 Question Id : 48558438438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

=S

oo

-

Options :

485584153749. 1
485584153750. 2
485584153751.3
485584153752. 4

Question Number : 1209 Question Id : 48558438439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

IComnrehemion IMCO



Choose the nght answer on the basis of the tollovang statement mud conclusions

Etatemient : [t 15 almos im'pﬂ-n.i.Hc to survive and Prosp-eT m their world without ssenific i.'ng etbics and
mcaality:

Comelusion T @ Warld sppiecinre soane eoncepts st may ot aplold it
IT ; Concept or ethies and morality are not praciicable m bie
L. Only 1 follows
2, Oaly 11 follooas
3 Both Iand 1T fodlows
4. Wetther [ nor 11 follows

Options :

485584153753. 1
485584153754. 2
485584153755.3
485584153756. 4

Question Number : 1209 Question Id : 48558438439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Tam T e i e & SneR O T8 ST & 904 HfE:
FU : TR AT AT &1 A e fam fa & o fad T8 2 990G B e arivd §)

Fored 1. oy e omuromal oft aeree o &, S o ooe v wEE
11 : SR A Sfersan 3 s i & wasifs T8 81

L. T [ SEETM

2. HET [ HE
3.1 % 11 S SR

AT TA o HTE

Options :
485584153753. 1

485584153754. 2
485584153755.3
485584153756. 4

Question Number : 1210 Question Id : 48558438440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ




Statment: "De not lean out of the meving frain”, - A waming m the milwey compatment,
Assumplions:
I Such wamung will be vome ethecl
II. Lemuang out of the moving tam 15 dangerous,
TIL, It as by of ssalwioe suthorates fo ke care of passengess satey
L. Only Taasd I aze mmphicit.
2, Unly 11 ausd 11 dsplicit.
3 Coly one (1) 2nd I aee mmplictt

4. L IL I inphet

Options :

485584153757. 1
485584153758.2
485584153759. 3

485584153760. 4
Rgsegtt)ll(l)sne q‘%‘llg)ef\l'zylllgu%yﬁnn{)enIIQA%%%%?{#&R%% ion ’,H&ee : IX[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T TR 5 T A A g o 3 ant of s
T
1, T ST & AR

T Tt 9 1 e @ a9 S W B _
111, T YT et o avde & i ol ot et o e v

. m 1 3R 11 S adea

3. a0 11 S 10 FF sialied
5. 5 1 3% 1 S SafiR @
3.1, 10 3% m AT B

Options :
485584153757. 1
485584153758.2

485584153759. 3
485584153760. 4

Question Number : 1211 Question Id : 48558438441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Haow mimay wotes are 1 the Himdestame Classical imasic?

1.5
2.0
37
4. &

Options :
485584153761. 1
485584153762. 2

485584153763. 3
485584153764. 4

Question Number : 1211 Question Id : 48558438441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TEar W e @ e e e B

k.5

Options :

485584153761. 1
485584153762. 2
485584153763. 3

485584153764. 4

é‘s"ﬁ%‘ﬁ’s‘% q“l’rrnnebﬂ‘\f.zyllﬁi&lﬁg{)enz A%?l?f‘rﬁﬁ#lzns }lﬁg 11(())% ",H&ee :: IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The templs "INageshvar was constracked by™
1. TRAIKUTAKAS

RASHTRARUTAS

L=

5. PRATIHARAS

-

CPANDYALR

Options :

485584153765. 1
485584153766. 2
485584153767. 3

485584153768. 4



gseg(t)lltl)sne q,llllllrllg)e&. Azﬂﬁi&lﬁg&-ﬂ: A%?l%ﬁ?r‘r‘;‘lzng}lﬁg 11(())% "HR]% ::IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

AN TiE T SR ST TR AT
WMEE TG

FF2

5. HfEER

§. giE

| ¥ )

Options :

485584153765. 1
485584153766. 2
485584153767. 3
485584153768. 4

Question Number : 1213 Question Id : 48558438443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

}Comnrehemion IMCO
What vwns the Earhv-hledieval pernpd™
1. 650 1206

3, TH0- 1306

3, F00= 1000
4. T30= 1206
Options :

485584153769. 1
485584153770. 2
485584153771. 3
485584153772. 4

Question Number : 1213 Question Id : 48558438443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Q ion Kev Details :
Key Value
Comprehension MCQ

HT T mET gt .

1, &50- 1206
2. TA0. 1308
Z, 300- 100

4. 750- 1206



Options :

485584153769. 1
485584153770. 2
485584153771. 3
485584153772. 4

Question Number : 1214 Question Id : 48558438444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

|C0mprehensi0n |MCQ

The sgcond Maratha War was fosght fram-
117761782 AT
21TES. 100 A
3. 1805 1806 AL
4. 15817 181EA D

Options :

485584153773. 1
485584153774.2
485584153775.3
485584153776. 4

Question Number : 1214 Question Id : 48558438444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

|C0mprehensi0n |MCQ

U ALS] U TE H TS T Ul
1. 17751782 St

1785 1780 54|

I

1503 1606 541

3
4, 1817- 1818 341
Options :

485584153773. 1
485584153774. 2
485584153775. 3
485584153776. 4

Question Number : 1215 Question Id : 48558438445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

Comprehension MCQ
| |




|t CAbmospheric Pressure) 15 equal to;
Fe e T
L. 100 « 104 Mim-
= il
2. 1.00 = 1079 Wiy

3, 6.67 ¢« 10° N'm?

4. 10" Nim=

Options :

485584153777. 1
485584153778.2
485584153779. 3
485584153780. 4

Question Number : 1215 Question Id : 48558438445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key . |Value

Comprehension MCQ
| |

| TETE (g EET 1) & HEaE

[.1.81 = 10¢ ¥in*

100 = 10 N

a9

S67 < 10° Wom?®
§. 107 Mim?

Options :

485584153777. 1
485584153778. 2
485584153779. 3

485584153780. 4
gses(t)lltl)sne q’}lnl?ebe&'gzll}?lr%ﬁgloenlﬂA%?]%f’lﬁ;‘]“?n(s‘)t}!ﬁ% ion ﬁ&% A IX[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which methoed will youn vse to sepamie Methyl alcohel o acetons”
1. Coystallisation
=, Exaporatica
3. Filtvation
4. Frachonal dismllation
Options :
485584153781. 1

485584153782. 2
485584153783.3

485584153784. 4



Rgs?(t)ll?sne ?n?ebeﬁ'gzﬂ]?llgyﬁgloen%A%%?glsusr‘l‘l‘tfngglel%gg% :H&% ::IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Ofers TaTed O UH1e- a ST & & forg 10 &= 3wl &1 Sug $4
1. i
2, TS
5. rmied (we)
4. WyTE sMEE

Options :

485584153781. 1
485584153782. 2
485584153783. 3
485584153784. 4

Rgseg(t)ll(l)& 'illlnnebe'N'Azl]ﬂu%ﬁgloen%A%ﬁgﬁlsr‘l‘l“l%ggﬁ% 11%1l ',H&% ::%ICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is a tvpe of Complex permanent tssie

1. Parenchyama

= Collzaehyns

3, Bclerenclma
= p‘.'lll:ﬂ'a'.'l

Options :

485584153785. 1
485584153786. 2
485584153787. 3
485584153788. 4

gseg(t)lrtl)sne W}'I'ﬁ‘é’efxr/lzﬂﬂn%?’ﬁ%%“%A"ﬁﬁ%?ﬁ]"’fé“?ng‘r‘ﬁiﬁ% ',Rf&% ::IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Fafeian § 4 FH-9 15 a3t 2l 399 o 55K 87

L. =PI

3. T

Options :

485584153785. 1
485584153786. 2
485584153787.3
485584153788. 4

Question Number : 1218 Question Id : 48558438448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Whe among the tollowing rented the Universal Senal Bos (115B)
L. Sundarmm Pichaz
2 Ajay V. Bhast
3, Pranal Misin
4. Sty Madela

Options :

485584153789. 1
485584153790. 2
485584153791. 3

485584153792 4
gseS(t)ll(l)sne 'illltllle!):ef\f.zlzlll?il%yﬁg{)en: A%%%{&ﬂs{%ﬁsﬂg}lﬁg ion Chfglee : IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fafeien | 4 e gf-ase Tl 99 (pus) & @i &)
L. e o
2. 3= . g
3w i
A, FEW =

Options :

485584153789. 1
485584153790. 2
485584153791. 3
485584153792. 4



Question Number : 1219 Question Id : 48558438449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

Comprehension MCQ
| |

Whach counfry will bost Natfvonal Delphic ames tor Ars and coltires i 20237
1. France

Imdiz

| ¥

4. China

Options :

485584153793. 1
485584153794. 2
485584153795. 3
485584153796. 4

Question Number : 1219 Question Id : 48558438449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

2023 H EE S HEp o 60 T S wa ®H 91 EE Sl @
1, @
2 HFA
3
1.4

Options :
485584153793. 1

485584153794. 2
485584153795.3
485584153796. 4

Question Number : 1220 Question Id : 48558438450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




What is estunated GLF orowth of India In 2022=23 as per 2500 achvances estunates”

1. 6%

4. %

Options :
485584153797. 1

485584153798. 2
485584153799. 3
485584153800. 4

Question Number : 1220 Question Id : 48558438450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

T, T8, 3t & U] ST HAE $ HTER. 2022-23 A HEE & 31 O §hE 9 F HTEE B

1. 6%%

-

-
£,

3. 8%
4. 9%

Options :

485584153797. 1
485584153798. 2
485584153799. 3

485584153800. 4
gseS(t)lﬁ)sne lalglﬁlllg:e&ﬂ%h%uﬁ%)en: A%%?éﬁls&‘éllng}lﬁ% ion "ﬂfglee ::IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Wihere 15 the Waorld Cup Crickes 2023 scheduled bo be held?
1. England
2. South Afisea
3. Australia

4. [ndia

Options :

485584153801. 1

485584153802. 2
485584153803. 3

485584153804. 4



Question Number : 1221 Question Id : 48558438451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Y Y GFFHE 2023, 3 Sl wmifeg o a i e

il
2, TlEer st
3. g

ES
4. i

Options :

485584153801. 1
485584153802. 2
485584153803. 3
485584153804. 4

gseg(t)ll(l)sne ygge&.glﬁﬁl&ﬁg‘%nI'QA4l§ﬁ§l§gl3uS&ll5]2nggﬁgggg “Hl% ::%ICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

[SRO chamrperson 5. Sompath has anmounced me Moy 2022 1o [ameh Venos Mission by

1.23003%

| 2

Jie.
=
3
]

Options :

485584153805. 1
485584153806. 2
485584153807. 3

485584153808. 4
Question Number : 1222 Question Id : 48558438452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Key |Value

Comprehension MCQ
l |

ST A T, HIO 1S 2022 1% T0H ) Fa 619 530 B O #
L. 2023

2,202



Options :

485584153805. 1
485584153806. 2
485584153807. 3

485584153808. 4
e‘:'§53'1‘1’s"e qylglg)e&.gzlzg“%ﬁ%%nllqA%%&%é 3 ¢ }_13% }grlll ',Hgl% ::]XICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Wihach of the following conntries share longest border (lengihmase ath India?

1. Pal-istam

[TF]
m
o
=

i
2
o1
=
=

3, Chis
4. Mepal

Options :
485584153809. 1
485584153810. 2

485584153811. 3
485584153812. 4

Question Number : 1223 Question Id : 48558438453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ

fFmferfEa # 3 wied & 91y (TiaE o) S s O e fa am on B
|, T

4. 9
4, T

Options :

485584153809. 1
485584153810. 2
485584153811. 3

485584153812. 4

Question Number : 1224 Question Id : 48558438454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Whaich of the following states does not share bowmdany with Bhostaa™
1. West Bengal
2 By
3, Bikkam
4. Meghelaya

Options :

485584153813. 1
485584153814. 2
485584153815. 3
485584153816. 4

Question Number : 1224 Question Id : 48558438454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Q ion Kev Details :
Key 'Value
Comprehension MCQ

Tt Tl # 9 S99 w2 & Ty 0 e 6 o o7
L. TE w
2. 3
3. fafame
4. TNITE

Options :
485584153813. 1

485584153814. 2
485584153815. 3
485584153816. 4

Question Number : 1225 Question Id : 48558438455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The Hmels tenn for Geography i BHUGOL, Tt was trst coaned by wlich tamous ancient Tndian geographer”
1. Varah Mihar
2. Bralsmgupta
3, Arvabhatin

4. Bhaskracharya

Options :

485584153817. 1
485584153818.2
485584153819. 3
485584153820. 4



gfgf)lrﬁ)sl}a lﬁl‘l‘rh“ef’e&‘z{zlzﬁu(ﬁ?ﬁ}}{’e“IIQA"I@E?.%%%SPM gﬁ% 11(())1111 "ﬂ{&% :: IKICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

SRS % fog oite o= wes 1 0% foeg W e e & R Uel AW Wi ad i
1. TTEHET
2. WET
3. R

4. U=t

Options :

485584153817. 1
485584153818. 2
485584153819. 3
485584153820. 4

Question Number : 1226 Question Id : 48558438456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

|L0mprehens1on |MLQ

A per the data (201320, whoeh conpiry 15 the largest producer of malk;
1. Desymark

2 Clxina

}1T5A
4. India
Options :

485584153821. 1
485584153822. 2
485584153823. 3
485584153824. 4

Question Number : 1226 Question Id : 48558438456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

|C0mprehensi0n |MCQ




ST (2019-20) 3 STHR. T T S 5 S00C A 9EE 791 &
1. e
2.4
P R
+ UTE

Options :

485584153821. 1
485584153822. 2
485584153823. 3
485584153824. 4

Question Number : 1227 Question Id : 48558438457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Key |Value

ICnmnreh ension IM(‘O

Given below are two statements;

Statement I: According fothe World Inequality Report 2022, o Indiz the top 1% of the population hold more
than ope-fifth of the todel income 0 2021 aod bettom half just 13%

statement 1T: Aceording to the Wesld Insquality Repoer 2012, o Endia fernale Inbooe meame share g equal to
18% which v sagmficantly lovwer than the average s Asea

Tin the Light of aberce statersente. choose the mosr approprate answsr froan the opticas grven below

[. Both Statemnent [ mnd Statement [1 are tue
2. Both Stateaeni [ amd Statement [T are falze
A, Statement 118 trae ot Seatsment 11 1= fales

4. Statesnent 115 false but Statement 71 15 true

Options :
485584153825. 1

485584153826. 2
485584153827.3
485584153828. 4

Question Number : 1227 Question Id : 48558438457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




T ot e ey 2

B 1. (3% SREFT T2 1020 & SFAR, YT T S o S 10, 2001 T i TP 470 o 0600 T i
TE & 7 T ©1 6 B9 3 T B

o pn T 3 PO 2022 F A HIRT H Al 4R & T TR e F SR O S ofim J s
w0 H AT A FAEEN

i T & S A, A iy e Rl H © e avgms S w90 oy
LA 1S IS
2 FUE 13T n ST A E
3, U 18 8. O Y A g
3, T 1 40 B EfE wYS n A e

Options :

485584153825. 1
485584153826. 2
485584153827.3
485584153828. 4

ﬂé‘seﬁf)'r?s“e lilrrnnebe&.Aleg“(ﬁyﬁtr}{)enIIQA%%#‘?&SP“&%S% ion ",Hglee : IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Inden's overall exports tonched all-time high of —————— in Apnl=March 202122, jumping 34.50% over

the sams peniod last year
L. 5D 524 Billion
2, USE» 404035 Billion
3, USD 66965 Bullion
4. UED 74228 Billion
Options :
485584153829. 1

485584153830. 2
485584153831. 3

485584153832. 4
ﬂé‘s"ﬁ%‘ﬁ’s’% ‘.‘r'r‘.‘é’%dﬁuﬁ?ﬁ%%“IIQA"I@fi%?fﬁﬁﬁslsng‘r‘ﬁ% 11(())1111 ’,Hglee :: IX[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




HUE- AT 2021-22 7 HRE F1 F Fid-———F 7= T W U5 T & 050 36 £ 30 S5 6
o 3 3. 50% filw

1. 590 fafege sl aiae

2. 400,24 Rt el =iew
3 oaond Tafegs et aimm
4. 74224 fafome it S

Options :

485584153829. 1
485584153830. 2
485584153831. 3
485584153832. 4

Question Number : 1229 Question Id : 48558438459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Key Value

I(‘nmnrehenqinn IM(‘O

The Creen Fevolution m India was an naredushion of high yiebding vansties (Y of seed for

1. Mllet

2. Pulss

3, Wheat

4. Ol seed

Options :

485584153833. 1
485584153834. 2
485584153835. 3
485584153836. 4

Question Number : 1229 Question Id : 48558438459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ

yradeim @i F S 9= e e ) @ ofag o
1. &
2.9m
578
4 TR A

Options :

485584153833. 1
485584153834. 2
485584153835. 3



485584153836. 4

Question Number : 1230 Question Id : 48558438460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Key |Value

[Comprehension [MCTQ

Miately List 1 with List 11

LISTI LIST 11
Books Authors
A | Hunper I. | Ostan Pamuk
B | Gelden Gel [1. | Esui Hamnaun
C. | by Mame i3 Bed M | Amey Ghcsdh
Lo of Poprpies [V | BT. Lisha

Clioose the cosrect answer from the epticons gaven below:
[ AL B-IV, C-TOT, T-1
2. Anll, BaIV, C.1 T111
3 AL BAIIL OHIL -1

4. A-TV, B-TILL, C-1, D-1T

Options :

485584153837. 1
485584153838.2
485584153839. 3
485584153840. 4

Rgse&t)ll(l)sne 'ilnr?g)e&'zlzl}l?ugyﬁ%)en]IQA“léPi?ggl:;usr‘I‘PPng}llel% ion :H]R]ee : IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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